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AT - I/PART - I
9 % t§ RIS/ CHILD DEVELOPMENT AND PEDAGOGY
P : Rt 7941 & a7 37 @ fg ga8 afa ey g

Direction : Answer the following questions by selecting the most appropriate option.

1. fFarrEen ﬁ'ﬂﬁﬂﬁ H e 3 & fow 1. To cooperate the adolescent it is
HETF § _ essential to
(1) ST (1) Inspire
(2) Tl FeeBTe (2) Indicate his mistakes
(3) STENEAT HEA (3) Criticise him
(4) TRHD AdelT H{AT (4) Do negative behaviour
2. UF aF & AHEIRT &G FATH G 2. Which of the following is not a
HqEE T2 fFrefofad § | -8 ufafy suitable technique used by teachers
IgF 7ET e ? for socializing the child ?
(1) uae R (1) Direct teaching
(2) TIRTHIBT (2) Identification
3) I o =M (3) Democratic discipline
(4) fa-HEor (4) Over-protection
3. U [N & daut & fqwg # Fr=fofad 3. Which of the foHoWing is a wrong
4 q Torg HUH B R 7 statement about emotions of an
: adolescent ? .
(1) g oty st g ofafda (1) Emotional  expressions  are
adf ® ) modified by learning.
(2) H W B (2) Emotions are permanent.
(3) Y% HaT § TH HEGA \'{_1,'&?[ A R _ (3) Every emotion is accompanied by
a feeling.
(4) T 9™ Gﬁ‘ﬁf A A B B (4) Emotions are aroused by external
stimuli.
4. TRfHa fRrem @ awed ® 4. Inclusive education means
(1) FiFra i o v 2 2 e ) ol 3 | e (1) Meeting individual differences in
q 0 FI general classroom.
(2) AR Rt [ we-a (2) Meeting individual differences in
¥ 90 ST different classroom.
(3) A Rrarett & ffire Rl (3) Meeting individual differences in
L QU T special schools.
(4) T el # a9 TR (4) Meeting individual differences in
3H G FHAT , home based instruction.

Level-3/172 P.T.O.
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e # a@er T gl W oaER
&7 UG e & '

(1) e &

(2) HIeT-fyEr

(3) wi-amEt

(4) ==

Br & M el B T W A R
fopar o we B, Al oreAqs

(1) R-a) gef & aa HV )
(2) @4 I qT ST FH1L |
(3) Wer el & Ferar g |
(4) IAr-qarstt A a1 FX |

femTes famw afe § 3 Jrgan &ix
Pro PR 0 § gems B, ot 3

(1) T ST &M FHTA
(2) Sf@ amem, R, g ok
fepy fereprer |

(3) FB I FA 3T Fmfor & |

(4) wfafean ot [Et #1 B wE)
sl X steE B RRAiR A

ZqeN P garaq fofy 2
(1) TH=E (2) ST
(3) wordi=®  (4) =T

frefofad & @ @941 fpoiRmaenr §
QT faw &1 uh e 787 & 7

(1) 9 99 9 F UF HHd 6ed
&

(2) fagl|d T & ofy smedor B
(3) ¥ g9t § 9 FH A

(4) fafire st & far emn
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In adolescence behaviour and attitude
are affected mostly by

(1) Teacher

(2) Parents

(3) Peer Groups

(4) Films

Moral values can be effectively
inculcated among the students when
teacher |

(1) Frequently talks about values.

(2) Himself practices them.

(3) Tells stories of good persons.

(4) Talks of Gods and Goddesses.

Critical thinking helps a person in
developing abilities and skills for

(1) providing concrete experiences.
(2) proper interpretation, analysis,
evaluation and inference.

(3) creating and constructing

something.
(4) thinking about ways of reacting.
Best method of dealing with adolescent
by parents and teachers is
(1) Autocratic
(3) Democratic (4) Restrictive

(2) Permissive

Which of the following is not a

characteristic of social development in

adolescence ?

(1) Active member of their peer
group '

(2) Being an
opposite sex

(3) High
relationship

attraction towards

decrease in  friendly

(4) Extension of special interests
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% RN o 9 By FE H §;
S8 @M o @ foeen, 3w @
F &

(1) P FHGER
(2) [AFHEEs FaEr

(3) T AR
(4) g forpeq @@t

T AT e gfed @

1) g e &
(2) Tt & o e &

(3) W g (Ga) G &
(4) TEE T T F

waq o &A9F YiFA (CCE) @

R ¢

(1) Pa0 aqEF B THAK F GEHH
FHE | |

(2) T & @l gall 1 gedih FAT |

(3) Fad BF & §H HN GeAEA B |

(4) FA9 B B GO F GAHT B |

frefafaa & & @9-d1 go oS ad

I fadwar (Fraan) 787 & ?

(1) e

(2) Hiferrar

(3) fagran

(4)

e e 1
(1) 9% & Fger § &N g/ qiaad |

(2) Torer & R gt § oftad= |
(3) WEHAE] H URASH |

(4) qrEEaEg B T A
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10.

11

12.

13.

14.

A

An adolescent uses her/his left hand
for performing act like taking food or
writing, this is developed due to

(1) Inherited behaviour

(2) Developmental behaviour

(3) Wrong behaviour

(4) All options are right

Discalculia is a problem related to the

problem of '

(1) Speaking accurately

(2) Writing
mistakes

without  committing
(3) Listening message properly
(4) Doing mathematical calculations

Continuous and  Comprehensive

Evaluation (CCE) aims to evaluate

(1)

(2) All aspects of development of
child.

(3) The knowledge of child only.

(4) The understanding of child only.

The reasoning of child only.

Which of the follbwing is not a trait
(ability) of a creative child ?

(1) Elaboration
(2) Originality
(3) Accuracy
(4) Novelty

Learning outcomes means

(1) Change in the behaviour of the
student.

(2) Change in teaching method of the

teacher.

Recognization

matter.

(3) of the

subject-

(4) Completion of content.

P.T. 0.
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T r fasidiTer B g9y A R ?

(1) 9= & 59 % 9
(2) e P A
(3) Fpelmaeen & XM
(4) TITEHEET & ATH

qehl & T e @ g Fe |
Frefofed & & #9-91 maue 39ge

TR

(1) I Jrgarstt 1 ke &M ameu |

(2) IUgF GET oMY A Iuere HE
ST =ty |

(3) 3% RfeTa (Qew) FT 3 =RY)
(4) AT STfvard & =R |

fFt & A, 99y =y ¥ sremmERE
fRat & @y #1d &0 999 F SR
TR ?

(1) STAEAHE I

(2) USTii=E JURT

(3) wufed Iurm

(4) oTest I

EREA Faq  gewyel gy @
e Ft &

(1) 9% & a0 g §

(2) 9% % IS fAHE |
(3) 9% P NS g &
(4) 9F % Aod e 7
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150

16.

17.

18.

takes

Differentiation of emotions
place at the time of

(1) Birth of child
(2) During infancy
(3) During the period of adolescence

(4) During adulthood

Which of the following provision is
not suitable
differences among learners ?

(1)
(2)

to meet individual

Their abilities should be assessed.

Adequate facilities and material

should be provided.
(3) Labelling them.

(4) Making Individualisation necessary.

Working with
particularly maladjusted one, which is

adolescents,

not appropriate ?

(1) Critical approach

(2) Democratic approach
(38) Collective approach
(4) Ideal approach

Heredity plays most important role in
the
(1)

Emotional development of the
child

(2)
3
(4)

Social development of the child
Physical development of the child

Cultural development of the child
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(1) 3HY AT g9 @A F FEr
Pl 2 |

(2) UEFER] B I T H Herd
ERCIE

(3) WEHERg H WA aUH § wEEAH |
Hegar e 2 |

(4) 3EQ 999 F F=d Bl B

g & qdet & Fefofad J
q P-4 fadwar 787 & 7

(1) g (2) axgied
(3) e (4) Al

ffffarst #erwa @ Frafofag & @
H-41 fdiward € ?

(1) BEf E @R & AT g9,
e foeprerr o ot fepat @t

g HE
(2) I aggs, FEdi oK If 2

(3) FHATF oMAFNRG FTH BEl @
ARG H 2|

(4) B ‘FE I H TN € |

frfofag & § @M@ oM & @
qFeE® AN Uauied S & e
frm 2 7

(1) 95y H

2) 199 1 fFrm

(3) STEHEHr & fam

(4) wEata & faw
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A

The knowledge
learning is must for a good teacher,

of principles of

because
(1) It helps in maintaining discipline.
content

(2) It helps to make

interesting.
(3) It helps to understand the content
by simple methods.

It saves time.

4

Which of the following characteristic is
not correct about objective type testing ?
(1) Reliability (2) Objectivity
(8) Validity (4) Subjectivity

Which of the

characteristics of

classroom ?

(1) Students design
draws conclusions and compare
their findings.

the
constructivist

following is

experiments,

(2)

Knowledge is objective, universal
and complete.

(3) Teacher transmits authoritative
knowledge to students.

Students look for the
answer.

(4) 'right’

Which of the following is the primary
law of learning propounded by
Thorndike ?

(1) Law of analogy
(2) Law of exercise
(3) Law of assimilation

(4) Law of disposition

P30
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e & oger aws ot AP #
el W oAidE fER an we §
a9 & o g, qe fww frelifed ¥
q P orafy F S ® ?

(1) S B aEfy
(2) T T sy
(3) FE-Prer omafy
(4) 33 iy srafy
TF ST F Gorddhal & W@ e 2,
IFEHF Iqaly Ism T g

(1) 3R FafFs o

(2) = RS ST

(3) ¥k or=T

(4) "9 A FfRE SR

98 ARG AFE g S Rl aEer
F O P, FRRE F@ qar T90
@A F 5gd FA 8, Fearl o

(1) R (2) ST

@) fmEft (4) sReRem

70 S A o 1 o
8 9 € i I o=

1) & Ry (1.Q) & B

(2 AMF afer A.Q) Bt B

(3) wiafs afey (£.Q.) & ¥

(4) STt @fer (S.Q.) it By

faera araa: T @ 99 @ % SwET

B §, e & 78 Rer Feam &

(1) faured @ waaedtg

(2) MiFfeRT (=T & 4wt 1 3R)
(3) 9w ¥ fafiee

(4) RREY
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23.

. 24,

25.

26.

27.

According to Piaget the child is able to
apply logical thoughts to all classes of
problems, this development occurs in
which of the following periods ?

(1) The formal operational period

(2) The concrete operational period
(3) The pre-operational period

(4) The sensory motor period

A child is average on creativity, high
in academic achievement, poor in
social development. This is
example of

(1)' Inter individual differences
(2) Intra individual differences
(3) Individual differences

(4) Measurable individual differences

an

That internal state of mind that
arouses, directs and maintains
behaviour is called as

(1) Interest (2) Opinion

(3) Attitude (4) Motivation
Some people adjust easily with new
people because they have high

(1) Intelligence Quotient (1.Q.).

(2) Academic Quotient (A.Q.).

(3) Emotional Quotient (E.Q.).

(4) Spiritual Quotient (S.Q.).
Development generally proceeds from

head to foot, this principle of
development is called

(1) Bilateral to unilateral
(2) Proximodistal

(3) General to specific

(4) Cephalo Caudal
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(1) oT=afa oM

(2) @ Sen

(3) TR IRom

(4) S=IE T AR SR

JrmEdl dfed SurH & T ¥

frfofea § @ St o9 7T aB &

(1) g8 JIeFmeRar & Jgareti, swHaral
v tfrm et F = @ B

(2) F& YU, IFAET X WA B
TEW U 99 ool &
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(1) SATHRHHAT

(2) G
(3) STEIHT
(4) 99T
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28.

29.

30.

A

A student is working hard for Board
Examination, his father has promised
to give him a motor cycle if he gets
good marks. This is

(1) Intrinsic motivation

(2) Extrinsic motivation

(8) Mathematical motivation

(4) Intrinsic and extrinsic motivation
Which of the following statements is not
correct about learner centred approach ?

(1) It takes into account learner's
capabilities, and
learning styles.

capacities
(2) It stresses the importance of
enquiry, observation and
investigation.

(3) It emphasises transmitting
knowledge to the learner by the
teacher.

4

It uses methods like experiential
learning, problem solving, concept
mapping and creative writing.

A child's attitude 'l do not care' is a
type of behaviour which can be
called

(1) Aggression
(2) Defence

(3) Denial

(4) Retrogression

Level-3/172
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o7& fame &t vefig
(1) Pt = fagg + e

(2) JEAER = TEA + 91X
(3) 9 = 99 + &
(4) TFFT = AT + ATy

IR CAE R B
I = (2 @

(3) &4 (4) 17

‘Te ford ¥ e R T oA - & R
TF = g

(1) SAHETd

(2) ST

(3) TR

(4) SmewiaT

S T o I @ fem @ S —
% fom oF 9= B

(1) gean

(2) SAfmERE

(3) Siftyaaferas

(4) @I

F= ol § @ d-T1 9= ‘@@ R 7
(1) T3

| ) fama

(3) TH=EI_T
(4) YHe
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Fraeer s afeeied =1 & ™ & gom
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(1) FHEg

2) FHEE

(3) JaY g

(4) FATIg

fPe o= ° @ @ 3fe | Rl &
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(1) G

(2) A=
(3) W
(4) TR

o = ¥ 4 5o W JE g8 w9
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(1) Sofet

(2) [

(3) TuE

(4) wrE
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(3) SE 9

(4) i 9q

AT I ghe § U’ = 08 7
(1) =F

(2) WrEErEs gs

(3) fasryor

(4) &

P A= qYY W GIEE 787 & 7
(1) #HEe

(2) fafEramas

(3) @M

(4) fafira

M = B FeT A @

1) & +4d

@ 6+ A

(B) & + 9@

(4 M+7

(1) M+ g9Y

(2) A + ggax

(3) M + @&}

(@) AT + T
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(3) Tl TgEW
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(1) FaEER

(2) S

(3) e
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(1) FewE

2 9

(3)

(4) FfEa
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(1) THHvSH

(2) R
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.............
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() EEE gREE @

(il) WeEE 9RE &
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(iv) gfte fawgs afwea &
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(1) @ @ @(v)

(2) (@ii) T (iv)

(3) @A (i)

(4) Fa9 (ii)

ARG & oI TOTel & oTaar f&ar
(1) sl A (2) gaEr A
@) FM A (4) 9= A

fosedyor § o @
(1) e

(2 fEE

(3) =ATEAT
(4) HfeHT Hed

= Rd | A foad §
(1) SyfreRa

(2) WU F M

(3) o H FEE H @I FHA
(4) TR AR P

Level-3/172
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HIT - III/PART - 111

TS - 11 (3 AH)/LANGUAGE - I (ENGLISH)
Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

Choose the correct passive form of
the verb in bracket in the given

sentence :

I suddenly realized I (watch).
1
2
3)
(4)

am being watched -
have been watched
am watched

was being watched

I must finish this.

The underlined word in the above

sentence indicates
(1) Necessity

(2) Determination
(3) Wish

(4) Habit

Choose the correct suffix to form the
word. The meaning of the word is

given :

Copi......... = Plentiful
(1) ous

(2) some

(3) ose

(4) ful

Level-3/172

64.

65.

66.

‘I don't enjoy going to the dentist.

The word 'going' in the above

sentence is a/an

(1) Present participle
(2) Infinitive

(3) Perfect participle

(4) Gerund

Choose the correct indirect speech of

the given sentence :

Mother said, "Don't go to the park."
(1) Mother asked us not to go to the
park.

(2) Mother told us not to go to the
park.

(3) Mother said us not to go to the
park.

(4)

Mother said to us to not to go to

the park.

Which of the following expression

means 'extremely happy' ?
(1) be a basket case

(2) fall off your perch

(3)' be off your trolley

(4) on cloud nine



67.

68.

69.
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Choose the correct passive

construction of the sentence :

Auctioneers will sell the painting at

auction.

(1) The painting would be sold at

auction.

(2) The painting will be sold by the

auctioneers at auction.

(3) The painting will be sold at

auction.

(4) The painting will be selling at

auction.

Identify the figure of speech in the

following sentence :

I must be cruel, only to be kind.
(1) Epigram

(2) Paradox

(3) Analogy

(4) Metaphor

Which of the following words is mis-

spelt?

(1) incongruous
(2) chronologiéal
(3) synchronus

(4) sympathetic

Level-3/172

(15)

A

Direction : (Q. Nos. 70 to 74) : Select the

sentence that is grammatically correct :

70. (1) My brother is the student in
Mayo College.

(2) My brother is student of Mayo
College.

(83) My brother is a student in the
Mayo College.

(4) My brother is a student in Mayo
College.
71. (1) Neither of them were present

there.

(2) Neither of them was present

there.
~(3) Neither of them present there.
(4) Neither of them are present
there.
72. (1) The roses smell sweet.
(2) The roses smell sweetly.
(3) The roses are smelling sweetly.

(4) The roses are sweetly smelling.

P.T.O.
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A (16)

73. (1) You certainly did not ought to do 76. Choose the correct direct speech of
it. the given reported speech :

He said I'd better go because it was late.
(2) You certainly ought not to have

(1) He said, "You'd better go because

done it.
it's late."
(3) You certainly did not ought to (2) He said, "I'd better go because it
have done it. . was late."

(3) He said, "You'd better be gone
(4) You certainly ought not to have
. because it was late."
been done it.

(4) He said, "You'd better go because
it "
74. _(1) Who was the book given to ? it was late

(@) ‘Who th biosk Wi given o 77. Which of the following is spelt

correctly ?
(8) The book was given to who ? (1) Pediatrician

(2) Padritician
(4) Whom was the book given to ?
(3) Pedaitrician

75. Choose the correct phonetic (4) Pidiatrician

transcription of the word 'Locate’
78. In which of the following sentences do

we need to insert the definite article

(1) Nuket/
‘the’ ?
(2) Nokeit/ (1) They are all busy growing things.
(2) We do not generally speak of
(3) /Nou'keit/ farmers 'growing animals'.
(3) Why do people work ?
(4) /Nouket/

(4) They are different from rest.

Level-3/172
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79. Which of the following sentences is

correct ?

(1) My father's foot was put down
when I said I wanted a car for my
seventeenth birthday. He said I
was too young.

(2) My father down put the foot when

I said I wanted a car for my

seventeenth birthday. He said I

am too young.

(3) My father put his foot down when

I said I wanted a car for my

seventeenth birthday. He said I

was too young.

(4) All options are wrong

80. Since you were not there, I left a

message with your sister.

The underlined group of words in the

above sentence is a/an

(1) Noun Clause

(2) Adverb Clause of place
(3) Adverb Clause of time
(4) Adverb Clause of reason

Direction : (Q. Nos. 81 to 85) : Read the
following passage and answer the questions

by choosing most appropriate option :

Common sense is a rare and enviable
quality. It may be truly said that ‘its price is
above rubies’. How many learned men, how

many wits, how many geniuses, how many

Level-3/172

(17)

A

dull and ignorant people, how many cunning
knaves, how many well-meaning fools are
without it ! How few have it, how little do
they or others know of it, except from the
infalliable results — for one of its first
requisites is the wutter absence of all

pretension.

The vulgar laugh at the pedant and
enthusiast for the want of it, while they
themselves mistake bigotry and narrow
minded notions for it. It is not one of the
sciences, but has been well pronounced to be
'fairly worth the seven'. It is a kind of
mental instinct, that feels the air of truth
and propriety as the fingers feel objects of
touch. It does not consist with ignorance for
we cannot pronounce on what we do not
know; and on the other hand, the laying in
of a stock of knowledge, or mastering any
art or science seems to destroy that native
simplicity and to warp and trammel the
of mind which

necessary to its receiving and giving their

unbiased freedom is

due weight to ordinary and casual
impressions.
81. Common sense is a rare and enviable

quality because

(1) Its price is above rubies
(2) All learned men have it
(3) All men are without it

(4) Very few have it

P.T.O.
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83.

84.

85.
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What is not a requisite of common

sense ?
(1) the utter absence of all
pretension

(2) bigotry and narrow minded

notions
(3) truth and propriety

(4) an unbiased freedom of mind

Which of the following is not stated
by the writer in the passage ?

(1) Affectation destroys common
sense.

(2) Common sense requires the
utmost simplicity and sincerity.

(3) Common sense feels the air of
truth and propriety as the fingers
feel objects of touch.

(4) Common sense destroys the
native simplicity and warps and
trammels the freedom of mind.

Fill in the blank with the most
appropriate word :

Common sense has been well
pronounced to be ‘fairly worth the

(1) Notions (2) Sciences
(3) Talents (4) Wits

Which is not a synonym of the word
'pedant' ?

(1) dogmatist

(2) formalist

(3) perfectionist

(4) down-to-earth

(18)

Direction : (Q. Nos. 86 to 90) : Fill in the
blanks with the most suitable option :

86. ........... child should learn to read and

(1) All (2) Every
(3) Whole (4) Both

87. Can I ask your ........... , do you think
TV violence is harmful ? '

(1) opinion (2) favour

(3) question (4) advice

88. Where is my wallet ? I left it .............

the kitchen table.
(1) at (2) in
(3) on (4) by

89. Take some medicine and the pain will

= S
(1) back (2) off
(3) out (4) away

90. The walkers finally arrived at their
destination. They ............. all day, and
they certainly needed a rest. They ......
thirty miles.

(1) had been walking; had walked
(2) had walked; had been wa].kiﬁg
(3) walked; walked

(4) have been walking; had walked

Level-3/172
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9RT - IV / PART -1V
HHSIRME / SOCIOLOGY
Fsr : Feafirea 7ot % aav @7 @ ke gag 3l fweq g

Direction : Answer the following questions by selecting the most appropriate option.

91.

92.

93.

94,

95.

e & YR
(1) 59 2)
@) R 4) &4

HE9d @Y 39 GG & gEE &
FATT H Fod ©

(1) ®erpf fasm

(2) IRREf s

(3) g

(4) TENITER

ORI GHI 1 AR ST 1
7% qREmT 2

(1) aE 3t 2 =g @t

(3) F= H (4) M 3

‘g Ro & et @ dw
e g ad ol g ?

(1) 2004 H (2) 2005
(3) 2008 % (4) 2010%

aefeEieRTeT 1 ke Rk

(1) af%s | 2

(2) Jsives iy

(3) TiHF d= wd I oo F
g TR

(4) Tf%F 99 wd Jsie aReg AT
i

Level-3/172

91.

92,

93.

94.

95.

Base of caste is

(1) Birth (2) Religion

(3) Education (4) Work

A study of relationship between
organism and their environment is
called

(1) Topography
(2) Ecology

(3) Zoology

(4) Sociology

"Sociology is the scientific study of
society." This is the definition of

(1) Ward (2) Davis
(3) Comte (4) Giddings
In which year was the "Protection of

Women from Domestic Violence Act"
passed ?

(1) 2004
(3) 2008

(2) 2005
(4) 2010

The main features of Modernization
is/are

(1) Rational Thinking

(2) Scientific Approach

(3) None of the Rational Thinking
and Scientific Approach

Both Rational Thinking and
Scientific Approach

4)

P.T.0.



96.

97.
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99.

100.
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R F 3 P oTRa RER Ry
%7

(1) Tio %o Y

(2) sflo THo gRA

(3) Fo Tio APRR

(4) o THo Y

‘it T F9 © W TR () 0%
ey % orgey e B 1 98 U B
(1) dREE #

(2) girae wEy aRa &

(3) 3fw &

(4) PAT-EETS H

A =9 g7 A 3Ry gEd e
foret 2 ?

(1) THo Hlo g

(2) T e

(3) To THo Hifvarg
(4) s Riz

dAerfEer & wEq o ofue B9
g deen yefad g8 § 7

(1) qEER
3) o

(2) TeTEd
(4) 9Ra
B g ?

(1) Sito THo gRA

.(2) 3Ro o ﬂ'@ﬁ

(3) THo THo Hfarg
(4) I ™
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96.

97.

98.

99.

100.

Who has considered Tribals as
'"Backward Hindus' ?

(1) N. K. Bose

(2) G.S. Ghurye

(3) D. N. Majumdar
(4) P. N. Prabhu

"Role is the part he plays as a result
of each status." It is said by

(1) Bierstedt

(2) Elliott and Merrill
(3) Davis

(4) Fair-child

Who has written the book 'Social
Change in Modern India' ?

(1) S. C.Dube

(2) Brijraj Chauhan
(3) M. N. Srinivas
(4) Yogendra Singh

Which is the most affected social
institution by industrialization ?

(1) Feudalism (2) Monarchy

(3) Religion (4) Family

Who is the author of book "Caste;
Class and Occupation" ?

(1) G.S. Ghurye

2 R. K. Mukherjee

(3) M. N. Srinivas

(4) Brijraj Chauhan
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102.

103.

104.

105.

106.
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‘AT g RS F a@® A © 7

(1) Rt 2fw

(2) I

(3) A=W

(4) g@m
TTHETOT 1 T 8

(1) Sy
(2) T et

(3) HgHT
(@) af o wel ¥

frfefeg & @ f9-a1 qEioes Mg
FH IFITERE AR & ?

(1) fram (2) 9REr
(3) T4 (4) <A

‘HTHYE T Aed-gE & &9 § fRER
gl &1 e o § 7

(1) o o HeA
(2) #ife Rt
(3) Z=go o FHIT
(@) et 2fm

GEA H AFR Rrrr e @ T
gem ?

(1) 2002 (2) 2003
(3) 2004 (4) 2005

el e $ orgar aefs @i
=tz oftenfya e o @

(1) SqEA & dEF F @
(2) IWRET F U F ITH Ty
(3) yEIHE

(4) EE F T B
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101.

102.

103.

104.

105.

106.

A
Who is the “Irriter of the book "Human
Society" ?
(1) Kingsley Davis
(2) Sumner
(3) Weber
(4) Durkheim

Problems of Urbanization is
(1) Over-population

(2) Slums _

(3) Pollution

(4) All options are right

Which of the following is said to be an
informal agency of social control ?
(1) Education (2) Family

(3) State (4) Law Courts
Who has classified groups as 'in-
groups and out-groups’ ?

(1) R. K. Merton

(2) Morris Ginsberg

(3) W.G. Sumner

(4) Kingsley Davis

In which year 'Right to Information
(RTI) Rules' was started ?

(1) 2002 (2) 2003

(3) 2004 (4) 2005

In Marxian theory the social classes
are defined by

(1)
@)

Ownership of means of production

Their relation to the means of
production

3
4

Ownership of land

Non-ownership of land

P.T.O.
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A (22)
107. §99TE & fFar #9 § ? 107. Who is the 'Father' of Sociology ?
(1) Ut (1) Page
(2) HeH | (2) Merton
(3) ST @i : (3) Auguste Comte
(4) 2fam (4) Davis
108. 9RGE 9N & gy A fag 108. Which Sociologist has emphasised the
ANl ¥ e TR @ Esdd use of  classical texts for
e R ? understanding Indian society ?
(1) Sfo THo gRA (1) G.S.Ghurye
(2) THo Hio g (2) S.C.Dube
(3) T fifs (3) Anthony Giddens
(4) RS gEH (4) Emile Durkheim
109. ‘TR Haew fafrae w9 wita gor ? 109. When Dowry Correction Act — was
passed ?
(1) 19857 () 1961F (1) 1985 @ 1961
(3) 1986 % (4) 1991H (3) 1986 (4) 1991
110. w9er # 1 &1 & oftnfyd fear s 110. A community is defined as
& ‘ (1) Intimate and exclusive living
(1) o o R w9 Y A e . ihe
(2) Intimate and private living
(2) "I gy e B9 | W @A together
3) Frlt way wFHiF B9 q 9Y @ (3) Private and exclusive living
together
(4) afTs, foi Ty T B H A (4) Intimate, private and exclusive
E living together
111. 1838 § 94 gHEaRA fr A & S 111. Before 1838 sociology was known by
ST o1 7 which name ? .
(1) |9 feasm (1) Social Science
(2) GHIRE THETAE (2) Social Chemistry
(3) AR Afera! (3) Social Physics
(4) qMIF g FEe (4) Social Biology

Level-3/172



112.

113.

114,

115.
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RIS (IRETS)” W T B

(1) THE 9RER a

(2 Rgdsda g% ofEr &

(3) WIgEdd §gF aRar |

(4) T+t faoeq T €

Id § fUser o omEm & guq =g
(s1em8) P19 & 7

(1) dio dio HUgH

(2) FTH FATDHT

(3) Slo 3o ITTHT

(4) o Ho M

zou#mm%%ﬁmmﬁﬁ
SEET ©

(1) 6.86FS

(2) 8.9FUT

(3) 5.36 FT

(4) 7.5F8

frefofed senfodl & & 5| w
‘qgufe S 9@ S § 7

(1) = 2)

(3) HI (4) e

AR ofEietr, e g
YRR § S g A R ' §
gt foram & 7

(1) iy & oG @ e §

2) Medt wifqdi # oRuflq #
T B

(3) -TeM & I T
(4) e e B HHONT AT &
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112.

113.

114.

115.

116.

"TARWAD" is related to

(1) Nuclear Family

(2) Patrilineal Joint Family
(3) Matrilineal Joint Family
(4) All options are wrong

Who was the first Chairman of the
Commission for Backward Classes in
India ?

(1) B.P. Mandal
(2) Kaka Kalelkar
(3) B. R. Ambedkar
(4) M. K. Gandhi

According to census of 2011
population of Rajasthan is

(1) 6.86 Crore

(2) 8.9 Crore

(38) 5.36 Crore

(4) 7.5 Crore

In which of the following tribes
‘Polyandry’ is practiced ?

(1) Toda (2) Bhil

(3) Santhal (4) Gond

Industrialization, Urbanization' and
Modernization in India have affected
the caste system as

(1) Linked caste with politics

(2) Lowered the status of backward
castes

(3) Strengthened the caste system
(4) Weakened the caste system

P. Tk
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AT FR D IIER,

fer-ag B

(1) G qea

2 qms VB g
LIGNIGKE

(3) I fobam ‘

(4) T e T B

ATF FE P GHNS GRaa § Faq
el S AT & 7

(1) #d 7/ (2) Jo dS

@) dlo A (4) TWio Ho EfaEreE
LS T 7 5 = O B S
mﬁgsaqaﬂwﬁﬁfﬁfaﬂwwﬁﬁm
™R

I

(1) 3rge 330, 332, 334 X 46
(2) 3o 46 X 16
(3) 3o 330 3 346

(4) 3o 346 AR 17

fFem #er ¥ & ‘amie d@= A
I ¥ AT & g HoaE-aET
Tifed &7 7

(1) Ehas-sed
(2) eq

(3) -
() AFRET

MEay § Si-ger o=id & e
1 H 4 g S 8 ?

(1) 3% == REErR #
(2) T THRT I &
(3) 7ol s qvEd B
(4) FE & H
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117.

118.

119.

120.

121.

According to Auguste Comte, subject-
matter of sociology is

(1) Social facts
(2) Social

dynamics

(3) Social Action

statics and social

(4) All options are wrong

Who considers role of material factors
as most important in social change ?

(1) Karl Marx (2) Max Weber
(3) V.Pareto (4) L.T. Hobhouse

Which Articles of the Constitution
emphasises special position to
Scheduled Castes and Tribes ?

(1) Art. 330, 332, 334 and 46
(2) Art. 46 and 16
(3) Art. 330 and 346

(4) Art. 346 and 17

Who has stated that "Social structure
involves a network of person to
person relationships" ?

(1) Radcliffe-Brown
(2) Nadel

(3) Levi-Strauss
(4) Maclver

Who 1is credited for starting the
women reform movement in India ?

(1) Ishwar Chandra Vidyasagar
(2) Raja Ram Mohan Roy
(3) Maharishi Dayanand Saraswati

(4) Irawati Karve
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TN TG Hl &
(1) qmiTE g} &
2) T &
(3) g =
@ B @

fFefofes & @ fhed ‘smm-anm @
@Y ‘T’ T g Ja ¥ ?

(1) 9REr

@ &

(3) Fedld e

(4) T P Gy
TTAHT 1 aRomH R -
(1) THE GRAR F ZET
(2) WgHR UREAR & e
(3) At # &R yEr
(4) T wgel 7 gfa

“feg SRR S’ w aia
gam ?

(1) 1955 % 2) 1957 %
(3) 1902 % (4) 1956 %

A AW F APER AEE GERT 3
IR -8 & ?

(1) &, gRafy g afw

(2) &, iy aq gRefy

(3) wftafy, af¥ waq i

(4) ¥, a7 qEy g

WA § 0T SO UeR F9 g8 ot
(1) 1857 (2 1901

(3) 1871 (4) 1911
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122.

123.

124.

125.

126.

127.

Sociology is a study of
(1) Social Relations
(2) State

(3) Globe

(4) District

In which of the following 'Face to Face'
and 'Intimate’ relations are found ?

(1) Family

(2) School

(3) Football Federation

(4) Association of Lawyers
Urbanization has resulted in

(1) Breaking of nuclear family

(2) Breaking of joint family

(3) Migration towards village

(4) Increase in the primary groups

When "Hindu Inheritance Act" was
passed ?

(1) 1955
(3) 1902

According to Max Weber which are
the bases of social stratification ?

(2) 1957
(4) 1956

(1) Class, Status and Power
(2) Class, Caste and Status
(3) Status, Power and Caste

(4) Power, Class and Caste

When was the first census
undertaken in India ?

(1) 1857 (2) 1901

(3) 1871 (4) 1911

P.T.O.
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“HeEply wEiEaT F HE-fAHa g
TE HY 8

(1) B & (2) TFE H

(3) BYHIEATT # (4) 34 &

2011 % SN & ATAX R H FA
e 3

(1) 922 (2) 921

(3) 940 (4) 933

“g fefae ol o) 3 dEES” JEw
fpee fordll ?

(1) erEaT

(2) #F9 W A

(3) FRA @M A

(4) 9= R 3

fram wo9 & B ‘o amhe
qel B TF A 87 7
() @M

(2) HepRE qUT 9

(3) T2

(4) = |
it wftafa #r ema
(1) e @ f
(3) R (4) a1y

THTAHTOT B T STl &
(1) 9 sraen

(2) HifE® s

(3) CITRTHIEIOT ST

(4) T
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128.

129.

130.

131.

132.

133.

"Culture is man-made part of

environment." It is said by
(1) Hoebel (2) Tylor
(3) Herskovitz (4) Dube

According to census of 2011 Sex-Ratio

in India is
(1) 922 2) 921
(3) 940 (4) 933

Who wrote the book "The Division of

Labour in Society" ?

(1) Tylor

(2) Max Weber

(3) Emile Durkheim

(4) Yogendra Singh

Who has stated that, “Society is a

web of social relations” ?
(1) Durkheim

(2) Maclver and Page
(3) Pareto

(4) Comte

Base of achieved status is
(1) Caste (2) Gender

(3) Education (4) Age

First stage of socialization is
(1) Anal stage

(2) Oral stage

(3) Identification stage

(4) Adolescence stage
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T TR H TF @A B w9 §
FFe e (vee) g R 7

(1) 3TRo Po FeH

(2) tferg fe qsh

(3) THo WI¥IHT

(4) Q'a'oqao?rqﬂﬂ

Tl I e § Fr @ R
FrA (FT) H wieAfea fear @ # 7
(1) wafaa g e sy

(2) TEE A AR FRE

(3) Iy FHH

(4) Tt e we &

e Y 2
(1) FE-gomen

2) 9 |
(3) uitafa &

4) 99 4

Frafifd 4 @ $9-a1 @& 9Rdg g9t
¥ A WO P S § 7

) @i
2) aof

(3) e
(4) S wa ot

P ARdE THeeTE 3 ‘A aR 9

ARG 9N B TR H qaudd P

frar 7

(1) To %o qH

(2) Sfo THo gRA
(3) Tio TWo Hifvard
(4) TRt F
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135.

136.

137.

138.

A

Who has at first used the term
'reference groups' as a concept ?

(1) R. K. Merton
(2) Alice Kitt Rossi

.(3) S. Stauffer

(4) H.H. Hyman

Alleviation  Programme
which

Programmes ?

(¢Y)

Poverty

includes of the following

Integrated Rural Development
Programme

National Rural Employment

Programme

(2

(3)
4)
Institution is related with
(1) Working Procedure
(2) Role

(3) Status

(4) Value

Antyodaya Programme
All options are right

Which one of the following has been
the main basis of social stratification
in Indian society ?

(1) Class

(2) Varna

(3) Land-holding
(4) Caste and Varna

Which Indian Sociologist introduced
'Field Work' for understanding Indian
society ?

(1) N. K. Bose

(2) G.S. Ghurye

(3) M. N. Srinivas

(4) Irawati Karve

P.T.O.
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THEal o Gl 1 Afaw fdeE 21 18
fFe T & 7

(1) so ] (2) e
(3) fieax (4) TR
yfqarea far & 7

(1) sfo THo gRA

(2) To THo Hifward

(3) THo Ho

(4) Slo To AYHER
I

(1) org

@) T _

(3) FifR=ra sgwm

(4) wf R w8 ¥

150 a4 & s w979 & -oiel U @
IRETEEY, ARAA e O SEpfa A
IO IREE B T T R

(1) SR
(2) TTRIHT

(3) gdiwor
(4) iEHET

ee T o/ g @ & Y ST &
Hfeae & g orgese i favgawg & ?

(1) BT — 17

(2) FTTBT — 335 AR 340
(3) ITTBY — 341

(4) STIEDT — 346
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140.

141.

142.

143.

"Stratification is a horizontal division
of society into higher and lower social
units." Who said it ?

(1) R.Murray (2) Gisbert
(3) Gitler . (4) Sorokin

Who has given the concept of
‘Sanskritization’ ?

(1) G.S. Ghurye
(2) M. N. Srinivas
(3) S.C.Dube

(4) D. N. Majumdar

Society is

(1) Abstract

(2) Concrete

(3) Definite territory
(4) All options are right

The changes brought about in Indian
society and culture as a result of over
150 years of British rule are termed as
(1) Modernization '

(2) Urbanization

(3) Globalization

(4) Westernization

To provide for reservation for
Backward and Other Classes is the
subject-matter of which Article of the
Constitution ?

(1) Article — 17

(2) Article — 335 and 340
(3) Article — 341

(4) Article — 346
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(29) A
144. g gREd & RSyan ¥

144. Characteristics of social change are

A B C D .
(D @ ) @ i)
2) v) @O @) (Gv)
@) @ G Gv) @)
4 Gi) @@ @Gv)

Level-3/172

(1) @ISR gpfa (1) Social nature
(2) wEAfE (2) Universal
(3) Sifewran (8) Complex
(4) a9 fopey et (4) All options are right
145. e 78 Rrer ofowld R & @ 145. Who has theorised that division of
AarE T ¥ gquReem o labour in industrial society also gives
QI &1 S Heel & 7 rise to anomie ?
(1. TR (2) g@m (1) Taft (2) Durkheim
3) frefere  (4) wE@vs (3) Leotard  (4) Sutherland
146. G-I F G-I § g AdA aar = 146. Match List-I with List-II and select
R (#1e) & @& ST W = the correct answer from codes given
FivoTy below :
g1 g1 List-I List-IT
( WWIT&) (m) (Concepts) (Authors)
& W%_mﬁcﬁ @) Ho wHo ?ﬁ\a A. Gemeinschaft- (i) C.H. Cooley
Gesellschaft
B. ﬂl%ﬂia-‘ﬂ_!qﬁl ii LEIE
() Bge B. Status-Role (11) F. Tonnies
C. HfH-wge (iif) U0 7 C. Primary- (iii) H. Maine
D. ufefy-afier (iv) ST REE =
D. Status-contract (iv) Talcott Parsons
v) % forees _
(v) Ralph Linton
ze - Codes :

A B C D
@» @ W O G)
@ v @ 3G [v)
@ @O i) Gv) (@)
(4) @) @) Gv) (v)

P.T.0



A

147,

148.

149.

150.

http://haryanatet.com

qg ® fefafes & &y § gy &
PR |

(1) w&T% favafemm & 1921
(2) F=g Reafam § 1919 7
(3) o [safaeed § 1923 ®
(4) e Reafaag & 1927
T A BN AT GHIET § 2

1) g

(2) HHEX

(3) #ad

@) ueft faser qd 2

TteReT # e e B /ane ¥
(1) F557T

(2) Af%E® S
(3)w@ﬁ1¢mqﬁﬁ-ﬁﬁaw"r
4) wf ey @& #

R Ffa & oRemTEEs gEer
HEE § @ aRad gan § ?

1) T T & g I E

2) T s 98 ¥

(3) & FrETTae I & ¥

(4) T EFEan g ¥

(30)

147.

148.

149.

150.

Sociology was introduced as a

discipline, in India in
(1) Lucknow University in 1921

(2) Bombay University in 1919

" (3) Andhra University in 1923

(4) Madras University in 1927
Who is Indian Sociologist ?

(1) Ghurye

(2) Majumdar

(3) Madan

(4) All options are right

Main problem(s) of Environment is/
are

(1) Pollution

(2) Global Warming

man-made

(3) Natural and

Environment
(4) All options are right

As a consequence of green revolution,
what has happened to class structure

of rural society ?
(1)
(2)
(3)

Classes have come closer
Class inequalities have increased

Class inequalities remain the

same

Class inequalities have decreased

(4)

Level-3/172
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gl @ SR, 9wk umae ¥ FuiRa @t @ @wer/9
dfc wrge ¥ ¥ gofaar @ren @ B, ok & AR
fagmar T &

, O & O o
Mg gRT e T SR Ted "AT W, afe SR are
@ H B e geR ¥ W €

. 9 ST @9 OMR SR U@ W 8 sifehd @v| ame

dfpa | SR FeAT g WA oD
(EoT vogE) @1 v g 2

yF g @ forg fau v ar et # 9 sfua g
& forr OMR SR 99@ W @ad UF gd $I & [ e
el /FTel 9t @Tge 99 9 W | (P IR 9

P ATg 9Q AT AE O Wbl & |

aredt gfftea &Y 6 39 SW uwe @1 Al 9 WY |
TH W P o e 7 | arpeft ammsr

IR gF3E 4 FuifRe e & afoRe sms 71 fog |

UoR, HEIgS B9, sodgie Sumel a1 R o geR
) Ed B & WE AT STUNT B B AR T E |

Es R U8 O W e aeff e w T
(Rt o) feam 1

D P ;
qdiem gRasr B A o W@ €|
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10.

1.

12

13.

14.

15.
16.

17.
18.

19.

20.

Answers to questions in answer sheet are to be given
by darkening complete circle using Black/Blue ball point
pen as shown below :

O e 0 ®

The answer will be treated wrong, if it is marked, as
given below :

g ® © ©

If you fill more than one circle it will be treated as a
Wrong answer.

. Rough work should be done only in the space provided

in the Test Booklet for the same.

. The answers are to be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

. Out of the four alternatives for each question, only one

circle for the most appropriate answer is to be darkened
completely with Blue/Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed to
be changed.

The candidates should ensure that the Answer Sheet is
not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of Test
Booklet will not be provided.

The candidates will write the correct Number as given in
the Test Booklet/ Answer Sheet in the Attendance Sheet.

Candidates are not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall/room.

Each candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her seat.

The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty and sign the Attendance Sheet twice.
Cases where a candidate has not signed the Attendance
Sheet second time will be deemed not to have handed
over the Answer Sheet and dealt with as an unfair means
case. Female candidates have to affix right hand thumb
impression whereas male candidates have to affix left hand
thumb impression on the OMR answer sheet at the place
specified which should be properly inked i.e. they should not be
either over inked or dried in nature.

Use of Electronic/Manual Calculator is prohibited.

The candidates are governed by Guidelines/Procedure
given in the Information bulletin, all Rules and
Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be
dealt with as per Rules and Regulations of the Board.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, the candidate must hand over
the Answer Sheet to the Invigilator in the Room/Hall.
The candidates are allowed to take away this Test
Booklet with them.
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